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(Common to Aeronautical Engineering, Mechatronics Engineering and production
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{Regulation 2004)
(Common to B.E. (Part-Time) Sixth Semester — Mechanical Engineering
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Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)
1.  What is meant by CIM?
2. What are the different types of manufacturing?
3.  What is Part family?
4.  Give any two benefits of Computer aided process planning.
5. . What are the devices used for shop floor data collection?
6. What are the benefits of FMS?
7. What is meant by LAN?
8. What a;*e the system modeling tools?
9.  Distinguish between MAP and TOP.

10. What are the advantages of data bases?
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Briefly explain the main elements of CIM systems. a
Or
(i) What is the need for Production planning? What are tl
advantages? (1
(ii) Discuss the scope and importance of Marketing Engineering. (
) Discuss about MICLASS and OPTIZ classification and codir
systems. (1
(i) What are the advantages of Cellular Manufacturing? (¢
Or
(D) Describe any one computer aided process planning software. (8
(ii) Distinguish between variant approach and generative approach. (¢
(@  Discuss the need and importance of automated data collectio:
systems. What are their advantages? (1€
(ii)  Briefly explain the Bar code technology with suitable diagram. (6
Or
(i)  Sketch the layout of a typical FMS and explain the importan
subsystems. (10
(ii) Write a note on AGV? Mention its applications, (6
@  Explain the IDEF model with & neat diagram. 8
(ii)  Briefly explain the LAN implementation. 8
Or
(i) Explain the role and development of CIM and architécture. (8
(ii)  Write a short note on LAN topology. (8)
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brielly expiain the manufacturing automations protocol.

Describe the architecture of a RDMS with block diagram.

Or
Discuss the three database models.

Explain the merits and demerits of relational database.
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